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Owing data is available for XYz Lid. : 16
. oy 2,00,000
Sales 2,00,000 =as - aREdd @ @ 30% 60,000
Less : Variable Cos
1able Cost @ 309, 60,000 S CAE 1,40,000
Contribution
1,40,
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EBIT 40,000
EBIT 40,000
Less : Interest 5,000 IEaH - A 5,000
Profit before tax 35,000 HT ‘ld w4 35,000
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What do you mean by Capital Structure ? Explain the

factors affecting Capital Structure. 16
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Weekl}' sales of a product are 4,000 units @ ¥ 3 a unit

Six weeks' credit is given. Unit cost is as follows - 1§
4

Direct material 1.25

Direct labour 0.50

Overhead

-l,ﬂ[}ﬂ per week
Planned stock includes ? 25,000 raw materials and
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20,000 units of finished products, Creditors are paid
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8. Following information is provided to you -

Annual requirement 3,000 units

Cost per unil T 60

Carrying Cost 15% of cosl per unit

Ordering Cost Z 540 per order
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9. Explain the Gordon's approach to relevance of
dividend decision. Discuss s assumption and

limitations ? 16
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